~ (Theory Paper)

S Paper Code : MCO 405 B)

. (Industrial Relation and Labour Laws)
Full Marks — 80
pass Marks — 32

Time — Three hours

i1 the margin indicate full marks
for the questions.

The figures

1. Answer as perAdirection given below :  1x6=6
@ Which of the vaH(')wing 'is~ not a ma'chinery ,
| for settlement of Industrial Disputes under
the Industrial Disputes Act, 1947 ?
® Conciliation officer |
(ii) Board of conciliation
(iii) Arbitration
(iv) Trade union
Which of the following is not a party to
Industrial Relation ? "
(i) Employees
(jii) Court
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(b)
(i) Employers
(iv) Government
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(1) Unfalr trade Practices
| (n) Unfajrl labour practices - -
‘ (m} Indus1nal disputes
| (iv) Coercion o
(@ Lok adalat | '
) ol bas been given, ___ st
e ._
1087 o ~°gal Services Authorities ACY
| $ in the blank) e
(¢) The basic ebjective of

at an. agree '
ny ment betw
and the employees een the manageme?

(.f) I.hre?tening - Workme

or false).

Answer the vin -
T the followmg_questions in brief :

(a) State =10
: tw <L 5’1
© objectives of Collectivie barz:ining‘

®) Wh
vhy d .
0 Workers join 5 Trade Union ?
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(d) Name 3 pillars of Trade Union.

(é) What is Standing order ?

(a)

(b)

(©

@

(e)

H

€:9)

(h)
®
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~ jurisdiction of an

. Answer any six from the following questions.

5%x6=30

Write a short note on “Principles of Natural -

Justice™.
Discuss briefly the problems faced by the
Indian Trade Unions. ' '

Write a note on the Unitary approach in
 Industrial Relations.
Discuss briefly about the dynamics of

Industrial conflicts.

Whois a Conciliation officer 9 State the role

of Conciliation officer.
Point out the functions of “Code of
discipline” | ‘
matters that come within the
Indpstn'al Tribunal under
f Industrial Disputes Act, 1947.

State the

Sec. 7A 0

Write briefly about “Unfair Labour Practice.”
Discuss the role of Lok Adalat in Dispute

Resolution.
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4 Answer any two questions from the following : .
- 10x2=20

(a) Dlscuss the various strategles of Collective
Bargalmng 10
(b) Discuss the Impact of teg]

echnological changes
on Trade union,

10
(¢) What is Joint Management Council 9 State .

: . ous roles and rights of Trade
Union i India —_— 7+7=14

#50 explain the machinety
available for resolving them under the
iSputes Act, 19479  747=14
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